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Zero Product Property
If pg = 0, then p=0 or g=0

Solve each of the following using the zero product
property.

1. x(x-5)=0 YZED)S}

X=0 or Xx-570
X=5

2. (2c-1fc+4)*=0

QAc-1=0 or C+4=0O
ac=| C=-Y double root or
c=L multiplicity of 2
=2

3. (x-2)(—9) =0
(x-ay (Xt 3>(><—g> =0

X=32=0 o Xt2=0 or X=3=0
X:a Oor XQ—3 OPX:S

Use factoring and the Zero Product Property to solve.

1. 372=10r+8
Brg—(or’g =() * get equation =0, ,

Y 2
g Grl(r4)=0 §o o
‘%«“% 2ria3=0 or C=H= o\ -y —ur

f e =< NUsing zero product prope;

=4 or=9

2. x*+25=10x
@ —10x+25 =0 N

-5Xx%)=0 or (S =0
X-5=0
X=G
3. (a+3)(a=3) =40

&lt%:_%O

0" -49=0

O+ D(a-2)=p

OtZ2=0 or a-7-0

or G=1Z
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Use factoring and the Zero Product Property to find the zeroes of each
quadratic function.

. f(x)=x +7x+6

= X%t 2xt+ b
B e\ o iy
X¥6=0 Xti=0

x=-6 or x =-1
2. g(x) 15x* —8x+1
= 15X =Ext |

@X )3y ~
QX* =0 or Sx-/ -0
~/§ X:é



